Puzzle 13706 - Tuesday, 06 December, 2016 - Difficulty 10

19 28 | 1 e 1 9 | 16
518|497 2|6 |31,
i i | :’{éf:: fff:ff,: %f::jfff:::,‘ éf::jfff:::,
917121316 |14]|58
T s 1T 2 |
3|1|6]4|5 8|9 |27
% ; ;Ziiiiiiiiii?‘ : : 72717???1 : :’é%’:] 72747: ,,,,,,,,,,,,,,
24|36 )8 7519
121 3 1 N R N R
7|5(1]|]2|9 |38 |64
19 15 [ 4 2
816 (951141217 3
: i é:?’f:f - f:::,: ‘ —— ‘ e e {éf"
43|57 |2[9|1|8]6
i : éa:::: | ———— :Ii()i:” ff::;}’ ’{é""ii:::
1)y2)7)814]|6[3]9]5
! I L EE
69 /813|857 4]2

Copyright (c) www.dailykillersudoku.com



